““Proyecto de Mejoramiento en la Ensefianza Técnica en el

Area de Matemética®” PROMETAM 2003 4 3
1) ...PROMETAM PROMETAM
2) ...Non-PROMETAM PROMETAM
2005 1 2005
i)
PROMETAM
)
G 10 )

41



100

1
1 15
2 7
3 9
4 9
5 4
6 4
G 10 )
G 10 ) 3
)
4
2)
60
84
1.
PROMETAM 0 20 40 60
Non-PROMETAM 2
PROMETAM
> 100
PROMETAM Non-PROMETAM t
Non-PROMETAM
PROMETAM




PROMETAM Non-PROMETAM
F=10.598, df=(1,76) P<0.01 PROMETAM
PROMETAM

F=2.054, df=(1,76), NS
PROMETAM  Non—PROMETAM

PROMETAM

73

Non-PROMETAM
x?= 5.799

60 PROMETAM=25 Non-PROMETAM 16 g1
@ Non-PROMETAM P<0.05

PROMETAM 70 Non-PROMETAM 64

PROMETAM 92 Non-PROMETAM 69
X2:5.799, df=(1 , P<0.05
PROMETAM
3.
PROMETAM 20 0 20 40 60 80 100
Non-PROMETAM 23 ;
PROMETAM = : ) x_Z: 0.074
PROMETAM=40 Non-PROMETAM 40 gfél
PROMETAM

FASCICULO



) PROMETAM

120

B PROMETAM
100 mNon PROMETAM|  NON-PROMETAM
80
60 I
o PROMETAM Non-PROMETAM
20
0 14 PROMETAM
Non-PROMETAM
T t=3.385, df=(78), P<0.01
6
5 PROMETAM
(15
) 15
120 t=2.687
df=78
100+ P<0.01
80
60 | @ PROMETAM 15
B Non-PROMETAM
40
20
0 2 7
) (™)
120 =3.057
T df=78
100 P<0.01
80 T
60 @ PROMETAM PROMETAM
B Non-PROMETAM
40
20 19




120

t=2.221
df=78
P<0.05

12

O PROMETAM
B Non-PROMETAM

(9

e )

120

t=2.340
df=78

100

80

60

40

20

120

100

80

60

20

(4

120

100

60

40

P<0.05

O PROMETAM
B Non-PROMETAM

t=0.132
df=78
NS

O PROMETAM
B Non-PROMETAM

t=3.705
df=78
P<0.01

O PROMETAM
B Non-PROMETAM

24

Non-PROMETAM

9
PROMETAM
9
9
14
PROMETAM
“4 )
PROMETAM



5 PROMETAM

48 2

(t=2.115, df=(78), P<0.05)

PROMETAM

PROMETAM 68

PROMETAM

PROMETAM

PROMETAM
6
PROMETAM

Non-PROMETAM

Non-PROMETAM 49
PROMETAM

83 Non-PROMETAM 79

35

30

25

20

15

10

r=-0.099
NS




PROMETAM
Non-PROMETAM 63 PROMETAM
ROMETAM
59 14
PROMETAM
PROMETAM

Non-PROMETAM

PROMETAM

PROMETAM

PROMETAM 74

73

Non-PROMETAM



